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Q.1

Please make sure that the printed pages in this question paper are 5 in numbers and it
contains 30 questions.

T GARad o) 6 59 Teus H qfed g A § 5 € 9 g9 30 U 2

The Code no. on the right side of question-paper should be written by the candidate on
the front page of the answer book.

e U3 & QT8 AR QY Y PBlg TR BT BF §RT ICRYRAD & Ugel Y8 WR fofdr ST =2y |
Before beginning to answer a question, its Serial Number must be written.

el ge &1 IR < YH B A ISl SABT HHId foa=T BT |

Don’t leave blank page/pages in your answer book.

T IR GRABT H @Tefl U= /T 7 8IS |

Except answer book, no extra sheet will be given, write to the point and do not strike the
written answer.

IR JRABT & AR DIg AT e T8l T ST | 37c: ATeIHATGAR & oRd T fog IRl
T PIC |

Candidate must write their Roll No on the question paper.

TRYeTT} 31O Rl TR U U R 3fawy ford |

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, not claim in this regard, will be enterained after examination.
T YT BT IR o1 A Yd g GiHad 8 & ued oF gl 9 |8l 2, Well & SWid 39 ey o
PIs ¥ TET WHR 81 fHar S |

General Instruction:-
i.  All questions are compulsory.
ii.  Write the correct option in objective type questions.
iii.  Marks of each question are indicated against it.
iv.  The question paper contains 4 section A,B,C and D.
v.  Section A Contains Multiple choice questions.

Section-A

Entrepreneurship leads to in GDP. Q)



ST AP B, STCTE H o BT 2 |
(a) Decrease (@)

(b) increase (afg)

(c) Neither increase nor decrease (1 gfg =1 &)
(d) None of the above (5 & ®1E =g

Q.2 High introductory price is related to (1)
Iod URMIEG ARTd H&frd 28—

(a) Pricing Objectives (@d S<=)  (b) Penetsation Pricing (I8 Jea freriwon)
(b) Price Skimming (<1 e 3vriifa) (d) Cost Plus pricing strotegy (ST ¥ Hed ferivon)

Q.3 Copy right is related to- (@D)]
gfaforafier F&6fd 2 |
(a) Inventions (nfasmrR ) (b) Literary Work (@ifes & %)
(c) Both a, b (@1 3ik 3 <) (d) None of the above (& & @18 72))
Q.4  The Apex body who controls the capital Market of our country is. Q)
AN < ¥ Yol IR Bl A B arell i dwen—
(@) RBI (b) SBI
(b) SEBI (d) None of the above
Q.5 Weight and Measures Act is a- (@D)]
I g AT B 8
(a) Economic Factor (snfefe araraxom) (b) Political Factor Rremifae araraxor)
(b) Legal Factor (et areiraxor) (d) Social Factor (Frfoies ararazon)
Q.6 EOQ helps in calculating- (1)

EOQ ol &R+ H AGE Hral a—

(a) How much to order (fosar smeer feam )
(b) How much to Store (fsa=1 wugor faear )
(b) How much to sell (fase=r s=r <o)

(c) None of the above (7% & ®1E 2))

Q.7  Labour Polices are ---------=------- factor. @
EOQ & ferit ... PRE T |

Q.8 inSWOT,’S’ refers to ------------- 1)
SWOT # 'S’ &7 fAumM................ 2l

Q.9  The verbal part of a brand is called ------------------- Q)
§is & HRID TT BT o) HET ST B |

Q.10 Define franchising (@8]
[HarsfSiT &1 gR¥Ifia & |

Q.11 Define BEP. 1)



Q.12

Q.13

Q.14

Q.15

Q.16

A= fawg @1 aRwI & |
Can an entrepreneur sense opportunity without vision and creativity. (1)
R VP YA g AR THAAGAT & (99T qAR BT Ul o AP & |

Assertion (A): In franchising there is usually a much higher likelihood of suckers when an

individual opens a franchise as opposed to a mon and pop business
Reason (R) — it runs on a proven business formula that is already in place. (1)
(a) Both Assertion (A) and Reason (R) are true but Reason (R) is not the correct
explanation of Assertion (A)
(b) Both A and R are true but R is not the correct explanation of A
(c) Ais true but R is false
(d) Ais false but R is True.
Assertion (A): Different product will have different operating Cycles. (1)
AABIT—A= ST BT FaTeAd b | =1 8Iar & |
Reason (R) Longer the operating Cycle, working Capital quantum is more.
HRU— AT @ ST w81, BRI Yol &1 I &1 3T Aaeddhal R |
(A) Both assertion and reason are true but reason is correct explanation of assertion.
BT T HRU QM Tl 8 | HRYT, AMWHT B AEl AR 7 |
(B) Both A and R are true but R is not the correct explanation of A.
JAMHLT 9 HRT M Tl © | HRYT, AT B Fel ARAT T8l 3 |
(C) Ais true but R is false. 3@ WEl 8 W BRI Tad 2 |
(D) Ais false but R is true 3if¥@erT Toid 8 TRg HRU F& 2 |

Assertion (A) - Business ideas come from a careful analysis of market trends and

consumer needs. (1)
JAApT— FaARIP IR ISR UGl g UTed ARSI BT ATGETHIYdd [IeeATor I 37 ¢ |

Reason- by following different ways for generating ideas an entrepreneur collect a

number of ideas.
PRH— T ITAT IR Foid & A= Tl T STARY e A= [TaR gaid &) dadl © |

(A) Both assertion and reason are true but reason is correct explanation of assertion.

BT T HRT SEI FEI 8 | RO, AMBAT B Fel AR & |

(B) Both A and R are true but R is not the correct explanation of A.
DA T BRYT S FET & | SRV, WA B Fe! AR T8 |

(C) Ais true but R is false. 1fidwerT W&l € g HRU Tad 2 |

(D) A'is false but R is true @M Tad & WRg HROT AL 2 |

Section-B

What are the different types of opportunities? (2)
TR & fafar= geR qamsii |

OR
Define environmental scanning.



Q.17

Q.18

Q.19

Q.20

Q.21

Q.22

Q.23

Q.25

Q.26

Q.27

Q.28

TRl TET0T Bl RYTRT B |

State features of a good business plan?

U e ATGATIS Ao B fILars garai |
What are different methods of negotiation?
TIRTET & faf=T UsRi &1 auie & |

Define merger?
faera &1 gRwIfa & |

what is the difference between gross working capital and net working capital?

Ahel BRI Yoll g g Hraeiier ol # 3faR gamii |
OR

What do you mean by angel investor?

USiel gwIee” (g fAderal) & ey aar wwera 27

Name any two idea fields?

fooR &5 & <1 USRI BT IF B |

Section-C

Why organic sations make a business plan?
UEh e gy Ao & o ' wra §?
Explain different tools of customer relations?
UTEd el & AR~ IUSHROT BT o B |
Explain advantages of franchising?
haTsfoT & Il BT 9oie BRI |

OR
Explain different type of acquisition?
AR & A= USRI &7 oI B |
What is the significance of ROI?
ROl &1 7@ 9 |

OR
Explain main features of Venture Capital?
ST Yol &1 e faeivarg g |
Explain difference between primary market and secondary market?
TrRIfie IR g fgdiaed doR # iR &l fadRyds F9smail |

Section-D

Explain the functions of SEBI?
SEBI & &raf & qoie & |
Or

(2)

(2)

(2)

(2)

(3)
(3)

(3)

(3)

(3)

(5)



Q.29

Q.30

Define working capital. Explain the factors affecting working capital.
FHREA gon &1 aRVINT @i | BRIATAYST & G9Ifdd & dTel dwdl &1 qui & |
Explain reasons for failure of mergers and acquisitions? (5)
faera vad SIfErgvr & SRIGAdl & SRV BT quid i |
Or
What is the pricing? Explain the methods of pricing?
PG FRIRT | T 9T §Hed ©° HAd FERT & dRIDI HT 90T BRI
What is marketing mix? Define its process. (5)
fauora fRsror g1 87 g9a dwl &1 9 o |
Or

What is Creativity? and explain its process.
EATHGAT | 3T T FHST 82 39D Ufshar &1 aofe & |




